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NOTE: First question is compulsory., Answer any six questions from the rest.

ORI
Marks SRR
()
| From the data given below, find the number of students who obtained marks [8]
between 40 and 49. r
Marks 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | ‘
No. of students | 31 42 Sl 35 31
2 Evaluate f(8) and f(15) using Newton’s Divided difference formula from table  [7]
below. )
X 4 5 7 10 11 13 jl Cosn 13
y 48 100 294 900 1210 | 2028 L
3 Find the interpolating polynomial f(x) using Lagrange’s formula and hence find [7]
f(3) for the following data.
i X 0 1 5 5 ] coidnte L3
F(x) 2 3 12 147
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| From the data given below, find the number of students who obtained marks [8]
between40andd45. e
Marks 30-30 | 40-50 | 50-60 | 60-70 | 70-80 |
No. of students | 31 42 | sl 35 31|
2 Evaluate f(8) and f(15) using Newton’s Divided difference formula from table  [7]
below. : ¥
X 4 5 7 10 1 3| Lot bl
B 48 100 294 900 1210 2028 |

3 Find the interpolating polynomial f(x) using Lagrange's formula and hence find [7]
f(3) for the following data. _ o :
X 0o | 1 2 5 ( GiBEs 1

| F(x) 2 | 3 12 147
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6
Evaluate J.

" dividing the interval into 6 equal parts using Weddle’s Rule.
ol +x )

Compare the answer with the exact value.

()Use Regula-falsi method to obtain a root of the equation 2x — log,, x =7 that lies
between 3.5 and 4. Perform 2 iterations. (ii) Use Newton-Raphson method to
obtain a root of cos x = xe* correct to 3 decimals.

Find a Fourier series of f(x) = x — x* from x = - 7 to x = 1. Hence deduce the sum of the

. 11 1 |
series Z]—2ﬁ2—2+3—2—F+

Find the half range cosine series of f(x) = (x — 1)* in 0 < x < land hence deduce

; | | | I
the sum of the series Zrz* i

>3 +3—2+4—2+... .

Obtain the Fourier expansion of y for the data given upto 2 harmonics

X 0 ! 2 3 4 5
y 9 8 24 28 26 20
Codv L G y : ,
Evaluate Il - dividing the interval into 6 equal parts using Weddle’s Rule.
ol+x

Compare the answer with the exact value.

(i)Use Regula-falsi method to obtain a root of the equation 2x — log,, x =7 that lies
between 3.5 and 4. Perform 2 iterations. (ii) Use Newton-Raphson method to to
obtain a root of cos x = xe™ correct to 3 decimals.

Find a Fourier series of f(x) = x — x’ from x = - 7 to x = 7. Hence deduce the sum of the

" | I | 1
series Z‘]—z‘_?+3—274_2+..

Find the half range cosine series of f(x) = (x — 1)’ in 0 < x < | and hence deduce

) |
the sum of the series Z%Jr Lwt .

+
22 32 42

v

Obtain the Fourier expansion of y for the data given upto 2 harmonics
X 0 1 2 3 4 5
y 9 8 24 28 26 20

Page 2 of 2

[7]

[7]

(7]

(7]

171

(7]

(7]

O

COs0L

CO0LG

CO301.1

COM

Las

[.3

3
| 3

| 3




s-Ap.TeE ¢ &-c, ME-A8 CVAL D

AT -2 \&/a)do ‘
Z % "~
40 2|
A
9
So 13 " _ar
25 ) &
.;FO \\5")(1 __k_l
>) 3M
5t Q0
| v\f-& a\:\_&t %@\N\:\S\\Q\
@ T fed flar) We W e
- ~ ™M
: : \ 3\(3‘1«3 AS\ e g =
N A AT =l ar
Ne Nedo = A:g_:;_l:(o ;D‘E\ | oA
3 (o
~ (e ) [0
™ (O‘iﬁ(—D '\' (argB(DJ
fuds 3~ Q@A‘&kkg’@/&’#q & N
2 @.{)(O&-»'D 10:5—3) (05’2) (B"’ﬂ

Qk ™

L ad) = 4+ &6

\{LAQN a8 ()



<+ Numbe C‘JG srodarde ob%u“?,n?«:( (g Hhan 4<
wou ¥ ooAL .

Allad= 31 by dom
Ao AT (7 ooy

Yedween  Av %A S Wi, M
FUI
2 oo Tl SV I = S R |
4 b
5
' 15
Q o] l
& <
i Al 2] O
Q02 |
|O Qoo v 0
210 |
\\ \'2/\0 . ¥
3 9m
; 409
\3 A0 AL

‘:\(‘x\:: ?fﬁ () (?{“10)‘{) toto, X)) ?’r(ﬁf‘)ubcu‘“zb ’{) \>t, 2y, 7g) 7

RV (o —50) f‘:i\-'Z(D (N«—D('z) 'B{%/%,"io_w)

- B
HV)
4 = A (o) B2 4 B (o e - O ) ) (5

.‘% (‘3” = 2{?; g\L r@ V]
g &% ,
*‘%W\:A%,M% {0 23150, 1m




3

Ao =0 oy &) Ay & & 2y 0%

o= 2 =3 Jo2)a 8'3:\\\:1

Favda Qe ) (a1 0 o CeADUAAD 0T Y,
(o-2) (oA ( Mo X3) (arz@(qug(‘;,ﬁ)

A (2B A (5019 (A2 (wertd) (24212

e 4
(10" (99 oDt IS ORI DICIEED
AM
= Jﬁ- (—oCaenT a1 *@)Ar';/q CUENCETE AR
Y
o (33
= %ewl.wr;} 3™
. W - J{m;‘z%%—w@
-« Dexeso o ”{Dam\ b
n=> ‘%( o) &= Y L™
S -
|
Voo,
0\



@a Weo dley s

G
L v g"“ (o 3y ™ Arg%fi*ﬁd;*“ﬁ(ﬁ}é)

0 \r\—'ﬁl ”M

ﬂ“\fﬁh " "-”733”] 21

Ton At dehle Qo

X O ‘| S 3 qy < 14

{(ﬂ | 0.c 0 0+ ) 0. 05R O.03¢c 0-097
i

PARPYS e ok en

Ay = e B - b @ 206 (O ng}“?(“‘o‘a‘%{g
__// o - e
"%U& — ‘%(QB | M\ G‘ECIWHG—D-QM‘D@

W\ = > T8758 J | M

E=1




‘%MDL )DCE*FISPH’@:_ O 0020l3
L B B beboen 3 TTHR A

(-EFA erodnoa
A= 218768 A b= 4

Jg(fx\; Gony —A €
Reoot:  Luay et 04 | | M

{

2 \Feaoh o ase bo) 0k w Jﬂ\w‘%ﬁblgk

e 40D e M

e M _ 0.5)776

. M oot 8 D:L1% ™M



/@ 400 = -

f = Qo = 5 =%
*15(90 5] _Jr r%\ Ay CONNY A 21 b &ingm
1)

~
—

- 7l
o /'%? J "é('m\ A

— Yl

™
@¢\’”%f /f {0 coana do

—\1

(-“ o
\Jf\ 2 L & 'Q[faﬂ Zan N dnyg
0
=N

= ol (@ﬂ~ﬁﬁ 522*;>W,Ck§% ~4Wﬂ)
9

1 R
Gy
Y
£

== =g g

) e




0

(- . N
kt)\:-« 2D J am

od ) O (N
2 g2 a4 2 (D e ,\—&\é(‘ﬂb\
\

HA—A <= _— A&,
3 2 n
Vud-a=0
4 )

2 Qrwﬂ

“ £ =i =

O s K E __ =\ Ao
n

' — ._—\ A—\ ‘-\ U l
Hﬁ(» = %K N TR A



’
@ %(9();;,_ (o)) 0% 4|
C‘»“‘VO"H Rro. el beidn 1O \1
=)
o0 = b an A i
- Q at

B ::Q‘J Cw—ﬁz‘ coana m dn
0

— & (U‘rh . ﬁg‘c\n N 9\\5\_]) o (Jq,u I 71\

N




© ©
\ Go
Q 120
2 \ go
A 24 ©
9 2 o0
O




(N
- N = - 52_’%’__ WBA&@ N
@'/?iﬁa&m@ | 6C M

z2 2 <, | |
% = §gﬁe:3o29 ot é. (—F)= - .33

éDQ = 2;-5}//5"41&0 “.::7 — 0 .00}31
N "
= "”i%x(o‘oodf)
M\




